例題用データコード表

	
	質問項目
	変数名
	コード
	欠損値

	1
	
	id
	
	

	2
	問１
	Q0100
	元号年で入力
	

	3
	問２
	Q0200
	
	

	4
	問３
	Q0300
	
	

	5
	問４
	Q0400
	分で入力
	

	6
	問５(1)
	Q0501
	
	無回答=99

	7
	問５(2)
	Q0502
	
	無回答=99

	8
	問５(3)
	Q0503
	
	無回答=99

	9
	問５(4)
	Q0504
	
	無回答=99

	10
	問５(5)
	Q0505
	
	無回答=99

	11
	問５(6)
	Q0506
	
	無回答=99

	12
	問５(7)
	Q0507
	
	無回答=99

	13
	問５(8)
	Q0508
	
	無回答=99

	14
	問５(9)
	Q0509
	
	無回答=99

	15
	問５(10)
	Q0510
	
	無回答=99

	16
	問５(11)
	Q0511
	
	無回答=99

	17
	問５(12)
	Q0512
	
	無回答=99

	18
	問５(13)
	Q0513
	
	無回答=99

	19
	問５(14)
	Q0514
	
	無回答=99

	20
	問５(15)
	Q0515
	
	無回答=99

	21
	問６(1)
	Q0601
	
	無回答=99

	22
	問６(2)
	Q0602
	
	無回答=99

	23
	問６(3)
	Q0603
	
	無回答=99

	24
	問６(4)
	Q0604
	
	無回答=99

	25
	問７(1)
	Q0701
	
	無回答=99

	26
	問７(2)
	Q0702
	
	無回答=99

	27
	問７(3)
	Q0703
	
	無回答=99

	28
	問７(4)
	Q0704
	
	無回答=99

	29
	問７(5)
	Q0705
	
	無回答=99

	30
	問７(6)
	Q0706
	
	無回答=99

	31
	問７(7)
	Q0707
	
	無回答=99

	32
	問７(8)
	Q0708
	
	無回答=99

	33
	問７(9)
	Q0709
	
	無回答=99

	34
	問8(1)
	Q0801
	あった=1、なかった=2
	無回答=99

	35
	問8(2)
	Q0802
	あった=1、なかった=2
	無回答=99

	36
	問8(3)
	Q0803
	あった=1、なかった=2
	無回答=99

	37
	問8(4)
	Q0804
	あった=1、なかった=2
	無回答=99

	38
	問8(5)
	Q0805
	あった=1、なかった=2
	無回答=99

	39
	問8(6)
	Q0806
	あった=1、なかった=2
	無回答=99

	40
	問8(7)
	Q0807
	あった=1、なかった=2
	無回答=99

	41
	問8(8)
	Q0808
	あった=1、なかった=2
	無回答=99

	42
	問8(9)
	Q0809
	あった=1、なかった=2
	無回答=99

	43
	問8(10)
	Q0810
	あった=1、なかった=2
	無回答=99

	44
	問8(11)
	Q0811
	あった=1、なかった=2
	無回答=99

	45
	問8(12)
	Q0812
	あった=1、なかった=2
	無回答=99

	46
	問９
	Q0900
	
	無回答=99

	47
	問10
	Q1000
	
	無回答=99

	48
	問11
	Q1100
	
	無回答=99

	49
	問12
	Q1200
	
	無回答=99

	50
	問13
	Q1300
	
	無回答=99

	51
	問14(1)
	Q1401
	
	無回答=99

	52
	問14(2)
	Q1402
	
	無回答=99

	53
	問15
	Q1500
	
	無回答=99

	54
	問16(1)
	Q1601
	○あり=1、なし=0
	

	55
	問16(2)
	Q1602
	○あり=1、なし=0
	

	56
	問16(3)
	Q1603
	○あり=1、なし=0
	

	57
	問16(4)
	Q1604
	○あり=1、なし=0
	

	58
	問16(5)
	Q1605
	○あり=1、なし=0
	

	59
	問16(6)
	Q1606
	○あり=1、なし=0
	

	60
	問17(1)
	Q1701
	いる=1、いない=2
	無回答=99

	61
	問17(2)
	Q1702
	いる=1、いない=2
	無回答=99

	62
	問17(3)
	Q1703
	いる=1、いない=2
	無回答=99

	63
	問17(4)
	Q1704
	いる=1、いない=2
	無回答=99

	64
	問17(5)
	Q1705
	いる=1、いない=2
	無回答=99

	65
	問17(6)
	Q1706
	いる=1、いない=2
	無回答=99

	66
	問17(7)
	Q1707
	いる=1、いない=2
	無回答=99

	67
	問17(8)
	Q1708
	いる=1、いない=2
	無回答=99

	68
	問18(1)
	Q1801
	
	無回答=99

	69
	問18(2)
	Q1802
	
	無回答=99

	70
	問18(3)
	Q1803
	
	無回答=99

	71
	問18(4)
	Q1804
	
	無回答=99


